COMPLEX ANALYSIS
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> Conformal maps were once a hot area of mathematical
study, and are still studied to this day.

> They have helped solve problems in physics by moving
situations with annoying geometries to situations with

good geometries! COV\QW-M WP
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HOLOMORPHIC FUNCTIONS AND HARMONIC FUNCTIONS

If f = u + 1 v is holomorphic, then u and v are harmonic
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Harmonic functions are real functions, like in calculus or
real analysis. Usually real functions are not so nice. But
harmonic functions are the real functions that are nice!

They are still a hot area of mathematical research now. In
addition, they give solutions to many classical physics
problems (electrical and gravitational potential problems
for example).
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Any questions or concerns? Anything unclear?
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